
Public-Private Partnerships and 
Government Spending Limits  

E. Maskin 
Harvard University  

 
3rd Annual Dameisha China Innovation Forum 

 
Shenzhen 

November 5 , 2016 



Public-Private Partnership (PPP) is arrangement 
where 

2 



Public-Private Partnership (PPP) is arrangement 
where 
• public agency selects large-scale project 

3 



Public-Private Partnership (PPP) is arrangement 
where 
• public agency selects large-scale project 
• private partner then develops and operates 

project 

4 



Public-Private Partnership (PPP) is arrangement 
where 
• public agency selects large-scale project 
• private partner then develops and operates 

project 
• private partner compensated through 

combination of government payments and user 
fees. 
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PPPs have been used successfully in 
• transportation 

– rail systems  
– highways  
– subways  

• medical care 
• water systems 
• even pharmaceuticals  
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advantage of having public agency involved 
• risks are often large 

– agency can afford to bear much of risk 
• projects often are public goods (everyone 

benefits) 
– such goods are undersupplied by markets 
– agency, as representative of public, can choose 

which goods will be supplied and ensure they are 
supplied adequately  

– can provide financing from taxation 
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advantages of having private partner involved  
• partner is specialist in good being provided 
• government has no particular expertise in 

development or operation 
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but there is a big advantage to bundling  
• induces developer to take into account possible 

later reductions in operations costs 
– if developer will later be operating project, has 

incentive to make right trade-off between higher 
development costs today versus lower operating 
costs tomorrow 

– makes investment more efficient 
• but in this talk, will be stressing another 

important advantage 
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• traditionally, analysis of PPPs assumes state 
agency is purely “benevolent” 
– acts to maximize social welfare 

• may be good first-order approximation 
• but even benevolent government not typically 

monolithic  
– government made up of different parts 
– not all these parts have  social welfare 

maximization as only goal 

39 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

40 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 

41 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 
– interested in promoting social welfare 

42 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 
– interested in promoting social welfare 
– but is also in competition with other regions 

43 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 
– interested in promoting social welfare 
– but is also in competition with other regions 
– promoted only if region performs well relative to 

others 

44 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 
– interested in promoting social welfare 
– but is also in competition with other regions 
– promoted only if region performs well relative to 

others 
– may have incentive to promote some high-

visibility projects even if not cost effective 

45 



• For example, Chinese government consists of 
central administration plus local/regional 
governments 

• regional leader 
– interested in promoting social welfare 
– but is also in competition with other regions 
– promoted only if region performs well relative to 

others 
– may have incentive to promote some high-

visibility projects even if not cost effective 
• will explore implications of this incentive 
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• Assume 
– social value of project = 14 

• Then 
– project with low cost worthwhile socially, because                                

14 - 5 - 4 > 0 
– project with uncertain cost also worthwhile socially, because               

14 - 5 - 7 > 0  
– project with high cost not worthwhile socially, because                          

14 - 5 -10 < 0 
• But suppose regional leader gets additional private payoff 2 from 

undertaking project (because it has high visibility)  
– then will want to undertake even high-cost project, because                    

2 + 14 - 5 - 10 > 0 
• So regional leader will try to pass off high-cost project as having 

uncertain cost  
– will “pretend” that doesn’t yet know cost of this project 
– regional leader not completely benevolent because its payoff not 

same as social payoff 
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• suppose central government places spending limit of 13 on regional 

leader 
– then contractor will undertake project if cost is low, because leader 

can pay contractor 10, and this covers contractor’s costs (4+5) and 
leaves contractor profit of 1 (10-9) 

• good, because low-cost projects are socially worthwhile 
– contractor will not undertake project if cost high, because even if 

leader pays maximum 13, this will not cover contractor’s costs 
(5+10) 

• good, because high-cost projects are not socially worthwhile 
– unfortunately, contractor will not undertake project if cost 

uncertain, because if cost turns out to be high, contractor cannot 
cover cost 

• bad, because uncertain-cost projects are socially worthwhile 
• So, spending limit imperfect solution if contractor must bear risk 
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Next, assume contractor can bear financial risk 
– will undertake project if payment exceeds average cost 

plus profit (1) 
• suppose central government places spending  limit on 

regional leader equal to average cost 12 plus 1, i.e., 
13 

• then, local leader can offer a fixed price contract to 
contractor equal to 13 
– contractor will accept if cost genuinely uncertain 

will make profit on average: 13-5-7 > 0 
– contractor will accept if cost is low: 13-5-4 > 0 
– but not if cost is high:13-5-10 < 0 
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• so, spending limit on local leader does good 
job of  selecting socially worthwhile projects 
– at least, when contractor can bear risk of 

uncertainty about cost 
• note: contractor should bear risk purely for 

incentive reasons 
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• consider traditional procurement 
• now there are two contractors 

– one for first stage 
– one for second stage 

• now, the fixed price contract of 13 will no 
longer work 
– by the time second stage arrives, cost is already 

known to be high or low 
– so if cost is high, contractor won’t accept 13 since 

13-5-10 < 0 
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• so, in addition to conventional reason for PPP 
– having contractor take into account second-stage 

cost at first stage, 
• PPP allows central government to use 

spending limit as effective tool for inducing 
regional leaders to choose good public projects 
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